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FA: Aot
B 520l 2|2 ASlET SEIA
el OiEd=k 2el=2dY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Al 20HHI 2,000 2,000 0
Oltsat=x RAZ+3SAt 2,000
oSt==AIE JHA 8,684,242 11,604,300 N2,920,058
= 5,671,000
== 483,250
= 2,529,992
+HXclAlE FXl2c 18,820 16,000 2,820
201 Ler23| 18,820 16,000 2,820
01 At2teltl 10,900 10,900 0
O=ZZAtl 100
OFSIE CHUS N R0l
4003 *2,00000*12] 800
O3=3ad HoEE 7
5,000,000& 22} 10,000
2 s5=34l 7,920 5,100 2,820
OFSIE SN &&=
400+2,00000*12] 800
Ogol== ald| 2,600
OSSAHAUS AYE SUR=
15,6943 x24I 2% 123 4,520
Salot=SeHcY = oA 50,000 50,000
401 Al HIZL 201 50,000 50,000
01 Al&HI 50,000 50,000
P& ol-S2XcY FHESAY 50,000
SSeEA WA 30,500 35,000 24,500
101 @1A4H| 1,500 5,000 23,500
04 JIZtN22 NS 2+ 1,500 5,000 23,500
OZ25sta4a AMEE |X2el
1,500,000 *14] 1,500
401 Al HIZL S 0HYI 27,000 30,000 23,000
01 Al&HI 27,000 30,000 23,000
OS=aa4d HE=+ 9,000,000& *34] 27,000
405 AHatE = 2,000 2,000
01 ML ESFSHI 2,000 2,000
O=-EItct X 2
1,000,000 24! 2,000
o= =4 & 2 145,000 150,000 /5,000
401 Al HIZ R 0HHI 145,000 150,000 /5,000
01 AlZ28| 145,000 150,000 25,000
O3S0t AlE =4 & 2el 145,000
OtSot=S HEAY 905,670 1,006,300 100,630
401 Al HIZL 201 905,670 1,006,300 100,630
01 Al&H| 900,000 1,000,000 100,000
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2A:

E M

S8HO V2R YT SBHH
el St AlE i (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odt=22Z A 720,000,000 *14] 720,000
Ot AIE= WA
180,000,000 *14] 180,000
03 AlZ = THHI 5,670 6,300 A630
Odt=== HEAY 900,000,000 *0.63% 5,670
St=Lo #X & 22(sHEOSS+=SFHHIAG (L 1,738,000 1,654,000 84,000
EX7)
= 1,738,000
401 Al HIZ R 0HbI 1,738,000 1,654,000 84,000
= 1,738,000
01 Al&H| 1,738,000 1,650,500 87,500
OLEXF sHE OtSot=% ZHIAISE 1,738,000
= 1,738,000
St X ¥ 2e|(G22FH)(2+Z22) 435,000 850,000 A415,000
= 117,000
o 318,000
401 AIEHIX SO 435,000 850,000 A415,000
= 117,000
o 318,000
01 AlZ2H| 435,000 847,000 A412,000
O2=+ C=ot+2=Z IHIAE 435,000
= 117,000
o 318,000
St=Eo #X & 22l (sHEOST+=Z ZHIAIY)(H 3,011,752 2,659,000 362,752
NINES!
= 2,999,000
= 12,752
401 Al HIZ S 0HbI 3,011,752 2,659,000 362,752
= 2,999,000
Ea 12,752
01 AlZH| 2,999,000 2,653,000 346,000
OJLHKF sHE DtSdt=% ZHIAS 2,999,000
= 2,999,000
03 AIZ2THYI 12,752 6,000 6,752
O3 &7 s0E Ot=ote= HBIAIE*0.63% 12,752
St=Eo #X & 2e(sHENSSE FHIA)(R 331,000 1,857,000 1,526,000
FX7)
= 217,000
[Ea 114,000
401 Al HIZL S 0HYI 331,000 1,857,000 A1,526,000
= 217,000
= 114,000
01 Al&H| 328,617 1,853,000 A1,524,383
O2FA+ s0E Ot=ot= HIAH 328,617
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2A:

HH: 580 L2 MTIEE SEIMNM
el St AlE i (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
2 217,000
2 111,617
03 Al 2| 2,383 4,000 1,617
OREXT S0E 01254 FHIAI0.72% 2,383
SlaTol HX L 22|(S01E DISdi4eE FHIAY 450,000 300,000 150,000
XHAI)
401 AlEHIL 2 OHYI 450,000 300,000 150,000
01 Al&ZH] 450,000 300,000 150,000
O% - 31202 S0IE DISdtaT FHIAL
of 250,000
OUSXT =s0E OIS5H+E HHIAY 150,000
02 272 sI+w2AE SEAY 50,000
Sl ol MR Y B2 (GHREEY) (YA SR 833,000 833,000 0
2 500,000
= 166,000
2 167,000
G NEEEESE] 833,000 833,000 0
2 500,000
= 166,000
2 167,000
01 Al&ZH] 831,000 831,000 0
Ua BT+ Y =2ot422 FH
A 831,000
2 500,000
= 166,000
2 165,000
03 Al 2| 2,000 2,000 0
QA TIGIH2TY =252 F|
AFRI%0.7 2,000
SteZol X ¥ 2el(sHEDIS0=E FHIAIY) (5t 568,500 1,137,000 A568,500
EX17)
= 284,250
2 284,250
401 AlEHIL S OHHI 568,500 1,137,000 568,500
= 284,250
2 284,250
01 Al&ZH] 564,920 1,134,000 569,080
OBIEX? =0Z 01264+ E HHIAY 564,920
== 284,250
2 280,670
03 Al 2 CHY| 3,580 3,000 580
OBIEX T =sUE DHSot+E HHIAIY 3,580
Sl MR L 22 (SOENSHET FHIAIY) (R 167,000 0 167,000
X7
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BB S9I(EH) - HRAR - BaS A HIDEZ
= 100,000
=S 33,000
s 34,000
401 AIZHIX 20HH 167,000 0 167,000
= 100,000
= 33,000
o 34,000
01 AlZH| 165,798 0 165,798
28 a2 ol=XelAE SEAE 165,798
= 100,000
= 33,000
= 32,798
03 AIZ S THYI 1,202 0 1,202
O28 412 ot=XiclAE SEAY 1,202
d=Z 122l 103,800 102,000 1,800
==& D22 103,800 102,000 1,800
201 er=3| 103,800 102,000 1,800
01 At22t2lt] 103,800 102,000 1,800
Ogdd+& 34
5,000,000& ~ 12912 60,000
OYdd+& 34
2,500,000& « 1291 & 30,000
OUAIR A gHE
1,150,000 <129 & 13,800
HY2EIHI(&ot=Zn) 39,804 46,140 6,336
Jl=3H| 30,804 46,140 26,336
oot 1t Jl=3| 39,804 46,140 26,336
201 Let=Ehl 16,524 19,440 N2,916
01 AtR2t2|HI 16,524 19,440 A2,916
OsH &t 13,220
OS gl SA0I& 3,304
202 04| 18,240 21,600 A3,360
01 SLHoIH 18,240 21,600 A3,360
OSA40Y| 18,240
203 HR=H] 5,040 5,100 260
M 2= 5,040 5,100 260
O&ot=El FM2E 420,000+ 122 5,040
Res(4ot=cn) 7,317,440 7,247,085 70,355
WA XIE 7,317,440 7,201,957 115,483
A= AMNASEH HES 7,317,440 7,101,957 215,483
701 JIErRIHISHES 7,317,440 7,101,957 215,483
01 et AN ES 7,317,440 7,101,957 215,483
O+ ANLEEIH HES 7,317,440
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